

/ /

Alessandra da Cruz Nunes de Moraes - 10334209

① $f(x) = \cos x$

$$f(x) = F(x_0) + \left. \frac{df}{dx} (x - x_0) \right|_{x=x_0}$$

$$f(x) = \cos(x_0) - \sin(x_0)(x - x_0)$$

$$x=0 : f(x) = 1$$

$$x = \frac{\pi}{2} : f(x) = 0 - 1 \left(x - \frac{\pi}{2} \right) = \frac{\pi}{2} - x$$

② $m \dot{v} = F - m \nu u + m x \dot{x}$

$$F = m \dot{v} + m \nu u - m x \dot{x}$$

sendo $\bar{v} = \bar{x} = \bar{\nu} = 0$.

$$F = f - \frac{\partial L}{\partial x} (x - \bar{x}) + \frac{\partial L}{\partial u} (u - \bar{u}) + \frac{\partial L}{\partial r} (r - \bar{r}) + \frac{\partial L}{\partial i} (i - \bar{i}) + \frac{\partial L}{\partial v} (v - \bar{v})$$

$$F = m \dot{v} + m \nu \dot{v} - m \dot{x} \dot{x} - m \dot{x} (x - \bar{x}) + m \dot{u} (u - \bar{u}) + m \dot{u} (r - \bar{r}) - m \dot{x} (i - \bar{i}) + m (\dot{v} - \bar{v})$$

$$F = m \dot{u} \nu - m x \dot{x} + m \dot{v}$$